1. o=ds2227

Mo

@ x2+3xy-2y2 = (2x+y) (x - 2y)
@x-1-y+1=0-1) -1

® P —dx=1x(x-2)°

@ x* -y’ =2x+2y=(x+y) (x-y-2)

® 2x+1)2-(x-2%=0Bx-1)(x+1)

@ —dx=x(x-2)(x+2)
@Dx -y -2x4+2y=(x-y)(x+y-2)
® @2x+1)*-(x-2)>=(3x-1)(x+3)




2. a—4p? & ASEoHA?

@ (a-2b)* @(a+2b) (a —2b)
® (a+b)(a-4b) @ (a+2)(h-2)
® (a+2b)?

a? - 4b® = a? - (2b)?
= (a+ 2b) (a - 2b)




S A 1552 + 11x - 12 & Q5B 5HH?

@ (5x-3)(3x+4) @ (5x-3)(3x—4)
® 3(5x—4)(x+1) @ (5x-12)(3x+1)

® (5bx+12)(3x-1)

B

15x% + 11x — 12 = (5x — 3)(3x + 4)

-3—> -9
3><I 4—> 20(+
11




= % 8x%y —4xy & QIp7} ofd Z20

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) (@)y(2x +1)

8x%y — 4xy = 4xy(2x — 1)




@® 36 @ 49 @—1 @ 225 @50

® AFAA -1 o] He AdpE EASHA Gonz -1 2
A7t ot o,
® AZ3A 50 0] El= AASE ZA5tA] ko B 50 & AF

%7} ohu e,




6. a>0%d, /(-da)? = 2Fo] oFA?

O -16a> @ —4da ® 2

v/ (—4a)? = 4a




® 258 g5t R 4 Fol Fel47} o 4= 9k,
) Vi =2




8. VI5x V20 =aV3 & u, a 9] 32

@ 8 @10 ® 12 @ 15 ® 18

B

VI5x V20 = V3x5x V225
= V22x3x52
=103

Soa=10




O Vi5+ V3 @ —=
@ V4= 2 ® 6=+ V6

®

2




10. AFZEAA V3 =1.732Y wf, o]Z o]&35}to] V27 9] 2 v
T ALY

® 1.732 @ 3.464 @5.196 @ 17.32 ® 34.64

V27 =33 =3 x1.732 = 5.196




1 1 1
ITV2 V2t V3 B+ VA

< Axrsta?

@ 1+ V2 @ V2-1 ©

@ 0 O
.

N =

1 1 1
1+V2 2+ 3 B+ VA

_4-V2) (N9, (V8- V)
=-1+2=1




12.

992 —1=100x98 Y= APst=tl 7Fg Lot A2

® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
@)a?-1* = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

992 — 1 =992 — 12 = (99 + 1)(99 — 1) = 100 x 98




{xl300<x<600 xe g5} ol thiske] V3 x vx 7F 4§ o 4Tt H

= St= A5 x o HFE FohH?
D)5 7 @ 5274 ® 10074
@ 10174 ® 301 74

VEx yE = V3x 7 0] A% 1), 3y £ AEL7} Holof sl
o ), x = 3k3(k £ 24A%) o]},
300 < 3k% < 600 & 100 < k2 < 200
k2 =102, 112, 122, 132, 142
x 0] A4 5 7




